6 spheres ‘loose-packed’ around 6 (ref.) electrons.
/\(Opt.) interestingly, sequence 6-1-6 = 1-6-1
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" @ Another way to create

substructure ratio: 14.071/1

vol. C _vol. B_14.071 [’ '
vol.B"vol. A~ 1 w

electron : » -
(ref) & Enlargement
‘ \ - - @ of substructure

l«— Another way to make 2180.19/1
ratio; 1 big sphere around 4; each

~ of those 4 around 6, and each of

those 6 around 1 (ref.) electron

Vol. Ratio: 2180.19/1; a vol. (mass)
YW\ | ratio approximation for the Lambda
Hyperon / electron. ((1 big sphere
around 4, those close-packed

:’/ around 4 (ref.) electrons))

Fig. 2H; the Lambda Hyperon with mass of 2183.34
electrons. Ways to approximate it and its sub-structures.
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